3R erearel S AT S 38!, o 9 foiasr.
AeArsl TR SiRaed Jear A |

a) ferarfaeyor 3regy b) 3R 3rcTT
c) shael gl 3eTT d) gl ey

faeeyr 3= SEr faasr,

a) derEdr x 3rderedr b) HeIad x 3THT
C) THIUT X HEHII d) &¥9F x 3&H

ICTd of SHUTRT QG PIUTAT?
a) 9r3ol b) sherer c) gellel d) de

HURTET 3racicar erearen 3 g e
I 3ol gIdT, YUT des 3TTell gl

a) 9Hg b) H

[

c) {ISoT d) Siraet

feelean areramar AleT 3esge, dra YAET 3FEUTAT dreren g3y feasr.
SIIGITRIe ST el ahel.
IRT TR el

qadT 3T 3STall.

a
b
¢
d

~ " S

ATl BRBR dTeTdd.

TIREY fordT 3R,
a) 5 b) 4 c) 3 d) 2

Groltel YT HIoTar SSAse ATET.

a) FrefAwr b) groTeTer c) gala d) TTETHIST

Give one word for the given definition.
Fear of water.

a) Nightmare b) Apprehension C) Hydrophobia d) Anxiousness

Rearrange the following sentence in the correct order.

A - Same as February

B - Rainfall in September
C - Is usually the

D - The average

a) D-B-C-A b)D-A-C-B C)C-B-D-A d)A-B-C-D

——
=
| —



10.

11.

12.

13.

14.

15.

16.

Change the direct narration to indirect narration:
"Are you going for the movie?" he asked me.
a) He wanted to know if | was going for the movie.

b) He wanted to go for a movie with me.
C) Who all are going for a movie today?
)

d) None of the above.

Choose the correct alternative to complete the given 'Good Thought'
Speech is silver but silence is ................ .

a) iron b) brass C) golden d) copper

Choose the correct alternative to find out the odd man.

a) honour b) recognition C) dignity d) disrespect

Choose the right answer.
..................... on this sea route loot all the passing ships.

a) Sailors b) Pirates c) Couriers d) Burglars

Complete the following sentence with past perfect tense of the given word in the bracket.

Yesterday, | read a poem which my teacher .................. (recommend) to me.
a) had recommended

b) recommended
) Will be recommending
)

d) none of the above

Choose the correct alternative to find out what the given advertisement is about.

'Wash & Wear, Cotton Garments
No need of Ironing, Feel Comfortable.'

a) iron b) colothes

c) washing machine d) cotton

@)% ()7 = @ e




17.

18.

19.

20.

21.

22.

feoledT AABC XY S AB = AC 3ATT9T BD = DC 318d, a¥ < ADC =?
In the given AABC If AB = AC and BD =DC , Then < ADC =?

P

a) 60° b) 120° c) 45° d) 90°

Ush J&IAT 4 FAT eIy JURT JE&IAT TATAT 80% &I, dX ol TEIT 2ATE.

a) 20 b) 30 c) 40 d) 50
When a number is reduced by 4, it becomes 80% of itself find the number.
a) 20 b) 30 c) 40 d) 50

UehT 3TIATAT ol T FIdie 3l 23 #Hlex 3. SR ardarar gRAGT 206 #ex 3@
TR TP fhdr?

a) 1520 #r.2 b) 2520 #Y.2 C) 2420 HY.2 d) 2500 #T.2

The difference between the length and breadth of a rectangle is 23 m. If the perimeter is 206 m,
then the areais .................

a) 1520 m? b) 2520 m? C) 2420 m? d) 2500 m?
x+2 7
_ - =7
o ) > X x 1
a r b) s C) 5 d) -5
22— 7 Thenx =?
xX— 2
-1 1
a r b) s C) 5 d) -5

13 & 1T SIOTAT aTd ogled 9 Tald AeAT diel 3T &I aaEd ohdi?

a) 546 b) 1092 c) 104 d) 988

What is the difference between the smallest and the biggest three digit numbers which is divisible
by 137?
a) 546 b) 1092 C) 104 d) 988

1.75 gFCIHIETD 225 R 3r7erel IO fhcdr?

a) 70:9 b) 7:90 C) 9:7 d)7:9
What is the ratio of 1.75 hectometer to 225 meters?
a) 70:9 b) 7:90 c) 9:7 d)7:9




23.

24.

25.

26.

27.

28.

29.

144 3TfOT 300 o 400 ITAT ST Ueh J&IAT JIAT HING 72 37, ¥ ol J&IAT HIUTAr?

a) 310 b) 260 C) 340 d) 360
HCM of 144 and one number between 300 to 400 is 72. Then which is that number?
a) 310 b) 260 C) 340 d) 360

Fleedr aard 15 a¥ AGdel 0T YUITAT Salell 4 & 0T degl 3R 52 3HTel, TR el
g ford?

a)2 af b) 1 9%

c)3 a¥ d) IUIR 3 EFehRdr AuR AEY.

15 years are added in Sonu’s age and after multiplying that sum by 4 the answer is 52 then what
will be the age of Sonu?

a) 2 Year b) 1 Year

C) 3 Year d) Answer does not acceptable

(a+b—-¢)*=(a—b+c)*=?

a)da (b+c) b) 2a (b —¢) C)4a (b —c) d)2a (b +¢)
SRIFT AR AT JTEETAT Sl SR e=m e ... ALY Tl

a) 1965 b) 1966 C) 1969 d) 1980
Xerox Corporation, the leading company discovered laser printer in .................. .

a) 1965 b) 1966 C) 1969 d) 1980

TohT GIGRTA &. 450 Tl Tl FATOY 24 GeaT WIET hedl. GHERT ATl 16 GeaT
€. 600 Yl Tl GATDY T 3R GeaT & 400 Il Gt FATOT fqehedl. X GRS
fohar dter arh cahardy axar.

a) 18- % b) 202 % ¢)312% d) 142%

A shopkeeper bought 24 chairs at the rate of Rs. 450 per chair. He sold 16 of them at the rate of Rs.
600 per chair and the remaining at the rate of Rs.400 per chair. Find his gain or loss percent.

14 3 5 8

mma@wg 45 IR, d T T §=W

9 .
If s of a number are 45, what is % of the same numbers?

a) 5 b) 25 c) 30 d) 81

ANT 15 #A. qdehs ell, AT 12 Al ITHS Iell, A 10 AT, GiREHASS Fell, T al
fErelear ST e ol 3TRTaR 31me.
a) 12 . b) 37 #I. c) 13 A d) 5 A

Gaurav went 15 meters straight to the east, then 12 meters to the north and then 10 meters to
west. Now how much he is straight from the starting point?

a) 12 m b)37 m Cc)13 m d)5m




30.

31.

32.

33.

34.

3TIATAT STl Ah3T 10 oF dredel 30T TEGT AT 10 A HAT hell, X STHSIA AhaT
ERIGRTCICEC
a) AHT 10 o dreel b) 23T 10 T FHAT glocl

c) AhST 1 o HAT gocl d) & YSUIR ATEr

Length of the rectangle is increased by 10% and breadth is decreased by 10%. Then what will be the
difference in the area of the rectangle?

a) Increase by 10 percent b) Decrease by 10 percent
C) Decrease by 1 percent d) No effect

JeHT gl %élo{ STell; SROT............

a) TERIFLY ATl aTerd TaTe.

b) SEHAT T SRIGRAET ALY HUY I e,
¢) wiaTelrer 31Ty T geeY ATy T
d) 31fEeRar AT el

Bahamani rule was weakened because ......................
a) Groups in the knights was increased.

b)
c) Officers in the region behaved independently.
d)

There were struggle between Bahamani and Baridshahi.

instability was created.

a) RroTEdeT Jraforn b) FgerefeeT Fdr

C) I&elleleh d) ddea FHGIe]

A well known Suphi philosopher -------------

a) Nijamuddin Avliya b) Moinuddin Chisti

C) Gurunanak d) Chaitnya Mahaprabhu
‘\’ng\Hstiuu PIBTT oo & FST TSI ST STelT.

a) HeaI b) ATART c) |eTell d) ars
Where is the capital of Maratha rule in the period of Shahu maharaj?

a)Kolhapur b) Satara C) Sangli d) vai
fRIGr=ar 3IRARTT AfdY R ... STgTat g,

a) 9Ty b) gleTer c) cirerer d) IRy
How many various types of ships are there in the navy of Shivrai?

a) five hundred b) two hundred

c) three hundred d) four hundred




35.

36.

37.

38.

39.

40.

41.

3T ST Nsdl.

a) INdasehiar - gvgiswnﬁr b) TgIS - S{IGeMmer

c) faemqy - 3nfeeramer d) EHACAIR - TASTHLTET
Find out incorrect pair.

a) Govalkonda-Kutubshahi b) Varhad- Baridshahi

C) Bijapur- Adilshahi d) Ahmadnagar- Nijamshahi

.................. IreAT RIS HaTHART HIHA qUT ST,

a) HEFAG JHF b) e FeAE

c) RISt Jeroreh d) ssifgd Y

The construction of Kutub Minar was completed in the period of ....................

a) Muhammad Tughlak b) Nasiruddin Mahamad

C) Firoj Tughlak d) Ibrahim Lodi

FfgeaEET AR .......... ¥ FHIYYY TSIHRIAR Fee] 3ad JATST T gfa#T
3dTdel.

a) 8 b) 18 C) 28 d) 38
Ruling with ability about .............. years Ahilyabai raised the image of Marathi rule in north.
a) 8 b) 18 C) 28 d) 38
g .............. SIqATT g WSATdel HATTEADT UM gidm

a) FRIEHT b) T C) guTelel d) SUR

................ profession in the village was the backbone of economy in the period of Shivaji Maharaj.
a) craftsmanship b) farming C) Livestock breeding  d) trade

HRATAT Tegedliallel Tshicd THUT fohell 3 3TEeT?
The Chakra (Wheel) in the Indian National flag has how many spokes?

a) 22 b) 20 c) 21 d) 24
HEIYINA HRATTl Trellerdehl ShioTear fdeariiord Tard ddey dgreelell gid?
a) Your b) el c) siTeler d) garer
The fame of which of the following university is spread of over in the medieval India?

a) Paithan b) Kashi c) Nalanda d) Dwarka
G WG ... T AdTa.

a) fafera 3% b) aleer gareit

c) faygareR d) 3fFce HGTHIIRTT

All the latitudes come together at ...............
a) at Greenwich b) at both the poles C) on equator d) In Arctic Ocean




42.

43.

44.

45.

46.

47.

48.

49.

CEIGIGRIEIR foEdd HEETR ..o

a) Urafther b) 3Tcererh c) fgar d) 3ferfFeasr
Which is the greatest ocean in the world?

a) Pacific b) Atlantic C) Hindi d) Antarctica
gfsrear fAgerad]a .............. HIT WIOThTH SITHTT THEIT 3Gasdl.

a) HS b) ISTEATT c) HIRAT d) RT3
Due to the abundance of minerals mining is chiefly found in ..................... region.

a) Mumbai b) Rajasthan C) Kashmir d) Zarkhand
STl ISTYT=T SIoTAr?

a) SABIRGIT b) Hera c) smeiferr d) Sg3AR3T
Which is the capital of Brazil?

a) Belo Horizonte b) Manaus C) Brazilia d) Juazeiro
TERT TTBACTT v 81 STl gdd 37Te.

a) cegice3rd RELIGISIEY c) TeaT d) fasEd
............ volcanic mountain is in Sahara desert.

a) Vesuvius b) Kilimanjaro C) Etna d) Tibesti
QURAEH ' HIIST ' &ROT .., IqT AEIGT SUATT 3Tel 3778

a) Fesh b) ASer c) &g d) &

The famous ‘Kariba’ dam is built on ................... river.

a) Zambezi b) Nile C) Tames d) Sin

' AT ' g 2R TTelcden! hIoTedT TodTd Ad.

a) ST 30T AR b) daTTe c) R d) AR
‘Anandnag’ city in the ............... state.
a) Jammu and Kashmir b) Panjab c) Sikkim d) Nagaland

GrelTeldehl IUTCAT YheduTd ' HERISCIAT HEIAGHT ' 31 Farelel el 3778,

a) gy b) FehsT C) P d) STreharsr
Which of the following project is known as ‘The Bhagyalaxmi of Maharashtra’?
a) Dudhganga b) Kukadi C) Koyna d) Jayakwadi

TG’ 3alolell 9fgell A ...

a) silel T b) & MM

c) usfaa 3ifesie d) IrdT ATer

Who is the first man landed on the Moon?

a) Niel Armstrong b) Yuri Gagarin

c) Edwin Aldrin d) none of the above




qeIeAT THUT &SIl AN ............ T SR STTIelell 3R,

a) 71% b) 29% C) 27% d) 79%
How much part of the earth is occupied by the land?
a) 71% b) 29% C) 27% d) 79%

IR TETIIAT SRIOTeAT &R Gua IR 318d?

a) g b) shfcrraa C) BRHIH d) s
Which of the following is mostly needed for the pregnant women?

a) Iron b) Calcium C) Phosphorous d) lodine
3SUTATT qTgaATell ... IS A,

a) &d gerdTr b) ATEIHATY C) arg verT d) gadr

................. is needed for the transmission of heat.
a) liquid substance b) medium C) gaseous substance  d) of air

TATO TR HGeledT AT YT &IMed ardiarul 3eledl AT SEd 366K Hl ATdId?
a) &M Jediadlel IS0l Scafoid gid =Tl

b) gddiel JTGdT TGl JehTRITell 33Uas fHATIT .

C) IMHAS I YT II3H TSl

d) a 3770 ¢ glegr sRIsK

Why are cloudy nights warmer than clear nights?

a) The clouds do not allow the heat radiating from the earth to escape.
b) Moisture in the air entraps moonlight.

)
C) The clouds result in heavy rainfall at night.
)

d)Both a & c

Grelierdeh! a8 g 3iiesdr.

a) gdr b) €=t C) WehTAr d) 3sorar
Odd man out.

a) Air b) Sound c) Light d) Heat
ATy S fAqET

a) 9Teleh - 9Tel b) MR - &

c) PAhIET - HD d) sieT - el

Select the correct pair.

a) Spinach - Leaves b) Carrot - Stem

C) Cauliflower - Roots d) Onion - Flowers




56.

57.

58.

59.

60.

61.

62.

63.

TefehlST & 0Tl Terd 3Te?

a) 9fia b) &TeYr gerey c) Siaddca d) I

Which of the following substance is glucose?

a) Protein b) fatty food C) vitamins d) sugar
AR T FfGATax e Saom=ar  eRRIdeTd FEA ... 318 FEUTATd.

a) AdraEdr b) TITITT TEUT C) Uolelel TEUT d) 3cholel T&dT
The system in the body which controls our all organs is called ..............

a) Nervous System b) Digesting System c) Reproductive System d) Excretory System
fRIqeRaTerd ............. b, AT geH Sar are ged.

a) o° b) 100° c) 20° d) 5°

In refrigerator the growth of micro organism stops at ........ °C

a) 0° b) 100° c) 20° d) 5°

................ Tl HITHIATET AT,

a) ATOTHTIT b) €T c) grograr d) gegrear
There is no time limit for the growth of the .................. .
a) of man b) of plants C) of animals d) of birds

200", dIYHATIEY €917 gadriel dd1 fohdl 3rgdr?

a) 340 / @ b)430 & / & c) 300 / & d3a /&
What is the speed of the sound in air at 20°C ?
a) 340 m/s b) 430 m/s c) 300 m/s d)34 m/s

.................. g Slidadcd STEHAT Jdhl HFT FHIEUITH 39gFd IGH

a)'s' b)'s" C)'a?' d) "3’
....................... vitamin is useful for the curing of the injuries?

a)'D' b) 'E"’ c)'K' d'A'
AAUATAR T FodE ............ gBhe gid.

a) TTemgY b) g C) NRIHT d) cliehamgr
If ruled according to the constitution which of the following is strong?

a) Monarchy b) autocracy C) parliament d) democracy
Isgadr fafaer aareer L T eEArdl AU T HAT HIdd

a) 15 b) 10 c) 12 d) 8
Pressident appoints ................. expert members on the rajya sabha from various fields.

a) 15 b) 10 c) 12 d) 8




64.

65.

66.

67.

68.

TSI AHUH 0T IHAFR HRAT TCalel ............. IieAT FeTel el T8,

a) gdger b) &HG c) HTIHA d) Irsgqdr
Indian constitution has given the right of the appointment of governor to ................
a) Prime Minister b) Parliament C) Chief Minister d) President

Groitel 9eaTTd Repre=am dlendia TRaidiel HIvTdl J&AT A9 3LdT.

Which number from the following will be suitable in place of question mark?

7 2 108
8 12 | 96
9 132 | 84
a) 144 b) 10 c) 11 d) 12

T fohsT TUefd fSieholed] WIS 4 T[0T TR 30T glcATdcgel 2 0T HAT Bldld.
TRl Fdear |9 15 WAl $HT HTell. Mol TRUT 24 T[0T TASTe; R AT [Sieheledn
YT FEAT fohcir?

a)6 b) 9 C) 12 d)8

In a sports competition the winner gets 4 marks and the defeated losses 2 marks. Viraj has taken
part in all the 15 events. He got in all 24 marks. Then how much events he had won?

a)6 b) 9 c) 12 d)s

Sigedll denlel Fgeol, dishalTall fA8TH Fged, et 3IfRIArT Fgeo T IfAITT Sieex
Fgeol dX AT HUT JUrAT?
a) slaex b) 3ifaZTar SRRLGED d) gehrer

Doctor is said to the lawyer. Lawyer is said to the teacher. Teacher is said to an engineer and an
engineer is called as doctor then who will examine the patient?

a) Doctor b) Engineer C) Teacher d) lawyer

GrelTel HAlfelchd TATIGIAT SET HT A5al?

In the following series what will come in place of question mark?

2 4 5 6 8 9 ?
1 3 3 4 4 5 &
a) 8 b) 10 c) 6 d) 12

10

——
| —
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69.

70.

71.

72.

73.

HelaT 37T TSIl ATl TS aF 3TTshA 8,36 ATOT 43 ¥ 3. o fohcll anelr e
g 2:6:7 IT GHONT griver?
a) 7 b) 6 c) 5 d) 8

Son, mother and father have their ages of today are 8,36,and 43 respectively. Then after how many
years the ratio of their ages will be 2:6:7 ?

a) 7 b)6 c) 5 d) 8

FISAAT 3Thcld ThoT Fehror fhcdl?
How many triangles are there in the adjoining figure?

A

B C

a) 12 b) 13 c) 15 d) 16

3T IFAR 377¢, R 76 EaHIATR PO &R Aer?

a) HAR b) YshaR c) gHUarR d) fAar
Today is Thursday. What day will come after 76 days?
a) Thursday b) Friday C) Wednesday d) Saturday

Wil TEITHATIT TeATIegIedT Sl T A5ol?
5,10, 16, 23, 31, ?
a) 31 b) 39 c) 32 d) 40

Which number will come in place of question mark in the following number series?
5,10, 16, 23,31, ?

a) 31 b) 39 c) 32 d) 40

YS:WQ::UO0:?
a) SM b) SN C) RM d) Ms

11

——
| —



74.

75.

Greltel AT UfgeaT Yeram ga=ar el ST a1 JaY 370g. 31 dard a9y faa=ar g
YRATITRTTAT SR YUTAT YerdT 378, TRATIeRTeaT SIel JUM=AT Uerar gay f=iasr.
12 SR : TTATT o3 Sadr @ ;27 838 @ .. Y.

a) Tav serafdg Sadr b) T IMSIETET ST

c) SI. USTeRId AT STl d) ardehr =g

In the questions given below, the relationship between the first and second terms is the same as it
is between the third and fourth terms. Which alternative will come in the place of question mark?

a) Veer Bhagatsing Jayanti b) Sant Gadgebaba Jayanti
C) Dr. Panjabrao Deshmukh Jayanti d) None of the above.

Grellel URaT 3MTehciiell HRATCTe FfdHAT GITAT=T QMer.

TR TRl
__>
5
)
<
ESREIIE T
< <« <
AN ] 7 /a
i J N N\
> —> < >
a) b) c) d)

Find out the mirror image of question figure from the option figures.
Question figure

_.._>

Answer figure

< “ > <«
N ) - i
\Z J Ve N
> N IN
a) b) c) d)

12
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76.

77.

Qreitel 92T 3MMhcll U7 VIS TN F9T 3Tehell fAdsT.
Re Tl

"N
N[

34X 3TehcaT

C

4| { a

a) b) c) d)

Find out the option figure to complete the question figure.
Question figure

"N
N[>

Answer figure

4| { a

a) b) c) d)

Grellel 2Tee SETAUATATET HIUTAT =T JThell A9 Mg Al 9AT foiasr.

Which is the correct Venn diagram showing the following words.
Children, students, men

13
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79.

80.

81.

82.

83.

84.

SR 378X 9 =12732,326 X6 = 1826 AR 509X 7 =7
a) 3563 b) 3663 c) 3503 d) 3533

If 378 X9 = 2732,326 X 6 = 1826 then 509X 7 =?
a) 3563 b) 3663 c) 3503 d) 3533

Tehl ElTeheiredl diel fEUc @rell feedr 3med. ¢ =37 fa%eyr @lvrd 31eR 37e.

Three states of a cube have been given below. Which letter will be there against C

sellagllse

a) F b) B c)D d) A

AT BIIUITET HRETET (FFIRET 9H) Grelleldhl HIS 31?2

a) feoelr b) SEXrgsT c) Heg GURED
In which city currency notes printing factory (Security Press) located?
a) Delhi b) Dehradun ¢) Mumbai d) Nasik

RO GRIATSCHAT HIOT 3Ted?

a) AT TS b) 37T%0T Sicel c) g A d) Teerr R
Who is the Foreign Affairs Minister of India?

a) Sushma Swaraj b) Arun Jaitley ¢) Narendra Modi d) Rajnath Singh
cfarfcgsterar e ot araen?

a) TaerEehf b) ST 3718 c) drEa d) Str.aATefeT
Who invented television?

a) Sikorski b) John Beard c) Thomson d) G. Marconi

HRATAIT Faeeh TATERAT 3Tolel T HIUTA?

a) IR b) HERISS C) D d) amdehr =Agr
Which is the largest Literate State in India?

a) Gujarat b) Maharashtra c) Kerala d) None of these
JTATHT TATAT IXOIT FIEERT ... I 3FA

a) TUg b) IHYTTRT IRT

c) giferd arérer d) demdr

.................. is responsible to conduct Gramsabha.

a) Sarpanch b) Gram Panchayat Secretary

c) Police Patil d) Talathi

14
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85.

86.

87.

88.

89.

90.

91.

92.

' Golden Girl ' g @relirdhr UM ITcHATIRT 38 ?

a) sfexr amefr b) W IR c) 4r.ér. 3w d) Irdehr =igr
‘Golden Girl’ is the autobiography of ................
a) Indira Gandhi b) Steffi Graf c) P.T. Usha d) None of these

3TTHIATT STUTRT Ifgcll HRAT HIoT?

a) Th AT b) TSI AT C) FHedal dATdell d) aaAfSer At
Who was the first Indian to go in space?
a) Rakesh Sharma b) Sanjay Thapar c¢) Kalpna Chawala d) Tenzing Norgay

11 f38€T 2014 U ufgem amerfas B aRue FHd =@

a) feoelr b) &= SR RIED d) HaS
Where was the first World Diamond Conference was held on 11 December 2014.
a) Delhi b) Dubai c) Newyork d) Mumbai

WeR g &1 Warg Avrear ol ddftid 3mg?

a) fohahe b) glehr Cc) Hasar d) gefees
With which game sportsman Sardar Singh is realated?
a) Cricket b) Hockey c) Kabaddi d) Chess

HAERTSCR JAHAT WrelleTdehl hIuT 3Tgd?

a) SeRId 9TaYd b) dehell He

c) GUR HAMEEAR d) I AT
Who is the Forest Minister of Maharashtra?

a) Babanrao Pachpute b) Pankaja Munde
¢) Sudhir Mungantiwar d) None of these

TSI RIUTT TSATT HaTTh el deﬁf&mm STHT 3TTR?

a) 3TYvcer b) FdATeeh c) WD d) 3nfsem
Which of the following state has the longest coast?

a) Andhra Pradesh b) Karnataka C) Kerala d) Orissa
AR E ARG [t 1= 1= EORR &1 IRT fhodl AUSITAT HEher fSadr 3Tell TgY.

a) aTs b) TotIga c) fasrarget d) F¥S- SIfoNT
The Marathas could never conquer the ................... , sea fort in the Raigad district.

a) Vasai b) Sindhudurg C) Vijaydurg d) Murud-linjira

' SR | IUAR RIUTT TSR HIdTd?

a) geIfdeR b) AT c) N IR d) TFdee
In which disease dialysis treatment is done?
a) heart disease b) diabetes C) disease of bladder  d) blood pressure

15
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93.

94.

95.

96.

97.

98.

T AgHAC Yete=aT oAl & gUT ITreT shell STdl.

a) se-u-fAdre b) ST 3¢ c) A d) A 3¢
On the birthday of Mahamad Paigamber --------- festival is celebrated.
a) Id-E- Milad b) Bakrild C) Mohoram d) Ramjan Id

IRIEATCTe Erel AT ST Jefiass STeolduared dacid ol faer ffesfaer?

a) faegaTyeT 31e b) HITH Flerde

c) TellT egst d) T AT

Who won the chess world championship competition at Sochi in Russia?
a) Viswanathan Anand b) Magnus Carlsen
c) Phillip Hughes d) None of the above

NG AATT FEIHAT HIT HTEd?

a) eleHeRd It b) Feitgy alfet

c) TSig 3MTelht d) I AR

Who is the chief minister of Goa?

a) Laxmikant Parrikar b) Manohar Parrikar
C) Rajendra Arlekar d) None of the above

TSIITATAT FRIRIS fohdl 31TAr?

a) 5a¥ b) Iseudil Al 3 wia
c) TSAITATEY STaT A =d d) AEIHGE ST Y Td
How many years is the period of the governor?

a) 5years b) until Presidents favor

Cc) until the wish of the Governor d) none of the above

HRATS YoAdHAT 0T 3E?

a) Sliel BaATSIT b) AT e

c) TR T d) FAAT SoToit

Who is the railway minister of India?

a) Gorge Fernandes b) Manohar Parrikar

C) Suresh Prabhu d) Mamta Banerji

HRATT AT HI0T 3Ted?

a) #O1.U9.TH. ¢ b) aT.c8.H. STell

C) 1.3 ST STeThSOTe d) IrdRT ATEr

Who is the chief Justice of India?

a) Justice H. S. Dattu b) Justice V. K. Bali

c) Justice K. G. Balkrishnan d) None of the above
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99.

100.

HITAT SHIIET Felarcliolen HFIRE FaIT 3T8?

d) None of the above

a) HIvTh b) AR c) FFYfahices d) Imdhr AEr
Which law is related to the electric security?
a) Computer b) Cyber c) Communicative
IO & ' AFH " WMl FEUTCI.
a) JTRfeT {EdH b) HIFECAIN
C) BEd3R d) Fardr f3n
What is called to the “ UNIX’ in computer field?
a) Operating System b) Software
C) Hardware d) Floppy Disk
(v )



